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Note : There are two sections in this paper. Section - A is 
compulsory. Answer any three questions from 

Section - B. 

SECTION-A 

1. 	Following are the multiple choice questions. Each 

question is having four choices, out of which only 

one choice is correct. Find the correct choice. Each 

question is of 2 marks. 	 2x10=20 

(a) Flow chart shows flow of 	 

(i) data 

(ii) control 

(iii) both data and control 

(iv) none of these 

(b) IP stands for 	 

(i) Internet Protocol 

(ii) Information Processing 

(iii) Internet Program 

(iv) None of these 
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(c) The Device that requests services from a 
server is known as 

(i) Server 

(ii) Terminal 

(iii) Client 

(iv) Peripheral 

(d) MS-DOS is an example of : 

(i) Compiler 

(ii) Interpreter 

(iii) Application S/W 

(iv) Operating System 

(e) RAM stands for : 

(i) Read Auto Memory 

(ii) Read Asynchronous Memory 

(iii) Random Access Memory 

(iv) None of these 

(f) In OOP, a single operation can have 

different behaviour in different objects, this 
property is known as : 

(i) Data Hiding 

(ii) Inheritance 

(iii) Polymorphism 

(iv) None of these 
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(g) Operation cost of any information is : 

(i) Variable cost 

(ii) Non-variable cost 

(iii) Value cost 

(iv) None of these 

(h) The time required by an algorithm program 

to run to completion is called : 

(i) 	Space complexity 

(ii) Time complexity 

(iii) Linear complexity 

(iv) None of these 

(i) 	Which of the following is a part of decision 

tree ? 

(i) leaf 

(ii) root 

(iii) branch 

(iv) all these 

(j) 	ISDN stands for : 

(i) Incwated Service Digital Network 

(ii) Information Service Data Network 

(iii) both (i) and (ii) 

(iv) None of these 
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2. 	(a) What is information ? How it is different 	5 
from data ? Explain with an example. 

(b) What is Object Oriented Programming ? 	5 
Briefly explain. 

3. 	What is Internet ? Explain how Internet works. 	10 
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SECTION-B 

4. (a) What is complexity ? Explain computational 10 

complexity with an example. 

(b) What is distributed system ? Explain two 10 

advantages of the distributed system. 

5. (a) Explain the Konignsberg bridge problem 10 

with the help of diagram. 

(b) What is information society ? Explain 10 

advantages of information society. 

6. (a) What is polymorphism ? Explain 10 

advantages of polymorphism 

(b) What is software reusability ? Explain 10 

advantages of software reusability. 

7. Write short note on the followings : 

(a) Cost of information 

(b) Electronic mail 

(c) Transaction Processing System 

(d) Data dictionary 

(e) Client/server system 

5x4=20 
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